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QUANTITATIVE APTITUDE

QUANTITATIVE APTITUDE

QUESTION 1                                                                                                                            Right mark: 1   Negative mark: 0.25

?2+ 652= 1602– 902- 7191

(CRP CLERK PRE 2019) 

हल कीजिय/ेSolve It

(1)78
(2)45
(3)21
(4)67
(5)None of these
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QUANTITATIVE APTITUDE

QUANTITATIVE APTITUDE

QUESTION 2                                                                                                                            Right mark: 1   Negative mark: 0.25

हल कीजिये/Solve It

333.33 + 33.33 + 13 + 0.33 + 0.03 = ? 

(1)367.87
(2)320.76
(3)456.89
(4)385.90
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QUESTION 3                                                                                                                            Right mark: 1   Negative mark: 0.25
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(243)2 ÷ (27)2 × 36 ÷ 12 = 9?
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हल कीजिये/Solve It

2

91 13 7 99

625 6 10

of 

 
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हल कीजिये/Solve It

(5+5+5)÷5

5+5+5÷5
=?
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QUESTION 6                                                                                                                            Right mark: 1   Negative mark: 0.25

हल कीजिये/Solve It

150% of 460 + 24% of 650 = ? 

(1)650
(2)460
(3)156
(4)690
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QUANTITATIVE APT.

QUANTITATIVE APT.

QUESTION 8                                                                                                                            Right mark: 1   Negative mark: 0.25

हल कीजिय/ेSolve It

6 × 3969– 45% of 680 + 1872 ÷ 26 =?

(1)189
(2)156
(3)124
(4)144
(5) None of these

(SBI CLERK PRE 2021)


